Equivqlent FDP e Match the equivalent fractions, decimals and percentages. ZLII

15
100 | 0.05 5%
L 0.5 15%
o What fraction, decimal and percentage of each grid is shaded blue? 20 ' °

1
m fraction = _‘_ 5 0.2 50%

(00
' = O- 1
decimal 0-0\ 5 0.15 . 20%
percentage =| | %

a) Shade the grid in the given proportions. 2,'/
, o grid in the given prop ,
fraction = To ; 3
: 1 ® W green
decimal =| 0-1 L e 0.03red
3
13% bl
percentage =| 107, i ° % blue
I
e 0.3 yellow
: L .
fraction = l°_° b) What proportion of the grid is unshaded?
. Write your answer as a fraction, decimal and percentage.
decimal = | 5
fraction = 3—5' decimal =| O-24 percentage = | 2L, /

percentage =| 100 %
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° Complete the table. o Match the decimal cards to the people.

Fraction Decimal Percentage Mg decimal is %
2\ 0.65
100 0.21 217 less than 100%.

3
s 0-12 12%
% 02 207/ My decimal cannot be
2 . @@ simplified when it is 0.57
s 0.4 Lo /. — written as a fraction. '
|\
25 0.44 uy /.
]
e . 0
25 0-04 4% My decimal is 10%
3 3 0.61
7 03§ 75/ less than I
9 .
o 0.99 a .
My decimal is greater "
than 60%. '

o Amir was asked to complete the statement using <, > or =.

14% @ 0.4

What mistake has Amir made?

o Use the digit cards to write a decimal greater than % but less
than 40%.

14 is greater
than 4

You may not use a card more than once in each number.

He haont compared thom un ¥he same orm. O-4=u0 %
and LO% YWU%  so W <Oy £9- 1O |2 ||

«

How many other answers can you find?

White
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o Fractions can be converted to decimals by using the short
division method.

Fractions to decimals (2)

For example, % =1+8

0:1/25 1 _0125
gl1:'0° 8
o Fractions can be expressed as divisions.
For example, % =1+2
Write the fractions as divisions.
3 Use the short division method to find the decimal equivalent of
a) 1. | |+ 3 d —=3=+5 the fractions.
3
S
3 ¥
b) 2=| 2 |+ 2 ) —=3:| 72 0:12|S l-lo-a2s
3 7 T2 4
4(1:00
4 _ - 1 _ -
Q5= L 9 f) 0°-| ! 16

‘ b)
. . , 2
Use place value counters to find the decimal equivalent of = ﬁ)
o 5 03 4 _ o<
You can draw on the place value chart to help you with exchanging. 5|4 >
2 _5.c_ )
£=2:5=0 b
Tenths

O O Q)

O o 0i3[3[5] 2-| 0335

O O 8|30 ‘0“0

O o

C o
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o Find the decimal equivalents for these fractions. e

I converted % to

o Zl=| 083s o9 L= 0-0625 a decimal and got the
8 16 answer 2
Jack is incorrect.
Explain the mistake that Jack has made.
b)%: - & d)%: 0 -‘S6as e : 2=\ n

° Filip is thinking of a fraction.

To find % as a decimal,
When he converts it to a decimal, it is smaller than 0.5 but greater

I found 2i0 as a decimal, then than 0.4

took it away from 1

What fraction could Filip be thinking of?

Here is Dora’s working out.

€. -
1-0.05 = 0.95 J [0
Are there any other possible answers? Talk to a partner.
0:05 -
T~ 10 20~ 0%
2 0110 0

o Use the short division method to find the decimal equivalent of%

49

Use Dora’s method to find the decimal equivalent for =0

O .
|-0:02= 0 9% 33533....

Compare answers with a partner.

«

0-9%

White
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Fractions to percentages

a) What fraction of the array of counters is red?
b) What fraction of the array of counters is yellow?

¢) What percentage of the array of counters is red?
d) What percentage of the array of counters is yellow?

e) What do you notice about the two percentages?

White

Rese
Maths

©

30

10

o a) Shade the hundred squares to represent the fractions.

F] ;
Vb 2L
K%,

40 _ 0 65 _ 0
100 = Lo % 100 - 65 %
l— 0, l_ 0,

> = 50 Yo 0> 70 /0

¢) Compare your shaded grids with a partner’s.

What is the same and what is different?
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16 _ 0 ﬁ_ °

- - 5= 80% d 2= ‘0%

o Fill in the missing numbers.

i= LlOo/b i= qo%

oo Lol o, o oo L] . 20 10

10 =100 | ’ 50~ 100 | |” a_[ o 18_[ ape
20 ~ L 20 ~
5 .
b) %= 1‘30 = L5 | % d) 295 = 1?:)% =| 36 % e) What do you notice?

e a) Shade the grid in the given proportions.

Y

1 is 10%, so €

10 20 3
must be 20%. ° = green e 14% red
o« 2 blue e the rest yellow
20

Explain the mistake that Ron has made.

What is the correct answer? b) What percentage of the grid is yellow?

«

1
o Convert the fractions to percentages.
o a) Use each digit card once to make the statements correct.

1 _ ) a1 _ 0

a r=| 5% b) £ =| 207%
1 - 2 » 1 2 3 4 5
2 ‘ 5 Lo®
3 _ ‘ 4 _ o |
2= 157 5= Son >| 1 0% 75% = f’ 3 65%

2 S

b) Are there any other solutions?

@
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qur‘ 6 o Use the bar model fo help you.

120 kg
A
Percentages »
507, 507,
Name 25/ 25, 25, 25,
What is 507, of 120 kg?
0 Here are some hundred grids. 60 kg o

What percentage of each grid is shaded?

What is 257. of 120 kg?
30 kg | mark
o Use the bar model to help you.
70
A
4 N\
|07 | 107 | 107 | 107 | 107 | 107 | 107 | 107 | 107 | 107

30 / 67 / 2 marks What is |07 of 70? -
©) Shade 127 of the hundred grid
What is 307 of 707 ,
|
What is 907, of 707
63
— What is 57 of 70?

35

Y marks




e The percentage bar chart shows the colour of counters in a

box.

Blue Yellow

Red

I I I I I I I
0/

What percentage of the counters in the box are blue?

1007

What percentage of the counters in the box are yellow?

What percentage of the counters in the box are red?

0O 507 of a number is 32
What is the number?

|07 of a number is 75
What is the number?

o Max has £800 in the bank.

He spends 3/ of his money on a new computer game.

How much money does he spend on the computer game?

3 marks

2 marks

2 marks

e Complete the table.

Percentage Fraction Decimal
) I
507, - 05
2
71 7
100
! 02
3 )
o577, 057
2 marks
o Leona has a large bag of apples.
There are 180 apples in the bag.
I
She uses g of the apples o make some juice.
She uses 20/. of the apples o make some pies.
How many apples are left?
QppIes 2 marks

Circle how confident you feel with percentages.

I 2 3 4

Not

9

Very

confident confident



Understand percentages

0 Complete the sentence for each diagram.

a)

b)

There are

parts out of a

hundred shaded.

This is

There are

%.

parts out of a

hundred shaded.

This is

There are

%.

parts out of a

hundred shaded.

This is

%.

o Complete the table.

Hundred square Percentage

82%
e Shade 15% of the hundred square red.
Shade 32% of the hundred square blue.
What percentage of the hundred square is not shaded? %
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o a) Is 1% of this bar model shaded? _Mo o Dexter has £1 to spend.

He buys some stickers.

1%

Explain your reasoning. I got 35p change.

IE< sg‘)\&, wto 1O ports  so eada |‘7ort s (0%

What percentage of his money did Dexter spend?
b) What percentage of each bar model is shaded?

£S5 | %

30 |% o Aisha and Brett have been selling tickets for the school play.

There are 100 seats available.

e On Monday they sold 34% of the tickets.

e On Tuesday they sold 42 tickets.

e By the end of Wednesday, 95% of the tickets had been sold.

70 | % : :
How many tickets did they sell on Wednesday?
o Passengers are boarding a plane. @ On Wednesday they sold | |4 | tickets.

The plane has 100 seats.
a) 10% of the seats are already full.

How many passengers are already on the plane? IO e Shade 85% of this bar model. @
b) 15% of the seats have not been booked. @} §w N & & & @ §§’

How many seats have been booked? 85 Compare answers with a partner. @
¢) How many passengers still need to board the plane? 7S

White
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